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1. Xﬂ-{fﬁ a, b 6 Rvﬁ

a—b>0a>b; a—b= 05a = b;

a—b<<08a<b.
2. AEA .
SR : a > b &b < a.
Bt a>b, b>c=>a>c.
MEEREYE: a > b, c € R=>a+c>b+c.
FerkBiEtE: a > b, c > 0=ac > bc.
a>b, c << 0=>ac <bc.

AIEN : a > b, c >d=>a+c>b+d.
P : a>b6>0, ¢ >d>0=>ac > bd.
FeHEM: a>b>0, n € N*=>a" > b".

FHEM: a>b>0, n € N*=>a >1b.
BN 0> b, ab > 0=+ < 1
3. PABOK/N A M BEA T B sk 22 55K 1.
(s 25)
1. ERATER
Bl AR, (D #H0>a>b, WL <55 @) #

a<b<0,ﬁllja2>b2;(3)%711->1,91'J1>a; W) FEl<a<
C2HO0<bH< 3, —2<a—b<< 2. iR E A A WREL 7
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B2 FTrERAZERY,5 << 3FEMKZEC ).

1 1
(A)x+xz—21—|—1 <3+12 —2z+1

(B)z+ Vz—4 <3+ Vz—14
(C) a(z+4)2%2 < 3(x+4)?
(D) 2(z—4)2 < 3(x—4)?
f@br D IE#s.

B3 By |

2<I+y<4’
0<<zy<<3;
o<z,
mwzn{, =0 wac .
(A) HRRZMFA L E R
(B) L Z M2 T T
(C) W RZM SR
(D) HBER 2 74P 2 M BB A
0<z<1, '
Wi BhZ i ()T R SR,

| Be<zty<d4,BREALRMRE. B0 <zy<3,BR

| 2= m.
2<x+y<4,, e o
iy (Y e m R e = 2,

y=1, W, HARENL L. Bk ().

M4 BH1<a—b<2, 13<2—5 <20, K3a—2 M
| BUAEVEH.

fRr % fi=a—b, f»= 2a——%,bklﬂsﬁtﬂ a56,fRA

| 3a—L, @it f1 f2 % 3a— L WRF MR I,

L fi=a—b, fr= 2a—%,1§

a=—%f1+%fz, b———%fz—%fl,
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Ll 3a— % -lg—efz—%fl-

2 1< fi<2, 13K f2<20,

y 0o 5, 5 208 16
e — < da<- 2, B<lnc
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BTk 3a— o WERL22, 35].

2. a—b>0=a>b WK A
Bs HE2+353axAkNHPzeR

fRr (2+3)—3zx=22—3x+3= (x——) 3
3
21 > 0.

A 22 +3> 3. i
Bl6 #a>0,b>0,n€N*,Hn#1l,iKta"+b0" 5
@ b+ abrt R/

fRHT (a" +b) — (am1b+ab™ 1)
=aa—b) +b1(b—a)
= (am 1 =t 1)(a—0).
1° a=blit,a"+ & = alb+ab™1;
2° a7 bW, MEHHEA o — 0! Ha—b AT,
B LA (a1 —b1)(a—b) >0,
an + b > am1b+abm .

%_ti’l a=bhlt,a"+b" = arlb+abr 1,24 a_—'ébﬁ*\j',an +
b >an—lb+abn—1 . (N /b):

’: +
w7 gavernmn(@) (%) sarmon
Wb R —: B%ar b€ RE, L

TE1 FEAHER




&I@
§|I°

I

8
|

>

4+

>
|

2

_ C(a—b) Ga—b)
V&

_ (a+VB (a—B?
Vab

>0.

1 1
2

B (%)+( )" =va 4.

B
2

mk—. w7 (%) + (L) svat wkoh, B
CATARIETERC 7T DL A4 56 o T A B S H
atnt B2N\T2 g2 b2
() +(&)' ] =4 +2va+L 50a+vp? =atbt
2@ R REHRZEBHE +2v@+E > a ot 2vab,

+ g
it (S) + ()" =va+e.
w8 Bﬁux>o,x¢1,m>n>o,tb3§xm+xlm5

z" +% K/,

T AEEN xR BT o<z <1 Max>1W
T oL

ft— x"‘+ﬁ—(1‘”+i)

£H1 FEXHME




= (xm—x")( —x—,,hd,,-)

WOo<x<<1Ht, i m>n>0,%
< zn H xmtn <1,

, 1
Fr LA 1 <0,
[54 (x’"—x")(l—%,ﬂ_ﬂ)>0;

M > 10l m>n>0,5
xm > " H amtn > 1,

LA st 5,
X
56 (x’"-—x")(l—‘;m;ﬂ‘)>0.

n

R (= +2)>o0,

By b >t

m xn

A fC) = =+ BB B AT o6 20V |
K.
& f(x)=x—}—%. W2 € [1, +oo) I EHE, € (0, 1) I,

Bo<a<<IW,HHAm>n>0,fLL0<am<<an <1,
LA ‘

m i n i.
| x +xm>x +x,,,
Mx> 10 EAm>n> 0, am > 2n > 1, LA
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il 9 Eﬂ%<a<ﬂ< T, a = cosa+ sina, b = cosPB+

sinf, lLEE a 5 b IRV
fiebr Rk

a—b = (cosa— cosf3) + (sina— sinf3)

= zsin‘“zrﬁ- sin‘B;a—{—Zsina;BO oos‘”zrﬂ

= Zsinpga(sina;_ﬁ—cosa_,_ﬂ). (%)

Wy T<a<p<n,

i e (0. 5). <P (.x)

FIr LA sin%z>0, sina‘;ﬂ> cosa_gp,
FrLACx) 3 > 0,80 a > b.
f#: . a = cosa+ sina =«/§sin(a+%),
. . 7
b = cosf+ sinf = ﬁsln(ﬂ-{—z).
Wa S <a<p<mpin
LS L 51
“<Q+T<B+T<T'
W% y = sinr, = € (m 2n) 2 W 6 ¥, BF WA

ﬁsin(a+%)>ﬁsin(ﬂ+%) Bl a>b.

10 BEH z, yER, M=22+y2+1, N=zx+y+zy,
L M5 N R/,
ﬁﬁ ﬁ&—‘:

M—N=zt+y+1—z—y—ay
- %[sz—i—Zyz —2r—2y—2zy]+1
= L=+ =D+ G—y? —2]+1
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=%Rr4y+g»4ﬂ+u—wﬂ>a

BrA M= N.
Rk M—N=z22+y’+1—x—y—ay
- =x2—(y+Dzx+3y2—y+1.
EXATBEERRKT « K=,
A A= (y+D2—4(2—y+1D
——3y2 4 6y—3
=—3(y—DZ 0.

FFUAM—NZ=0,Bl M= N.
Mll E%ﬂ:a>0,a?'—'1,11>0,x2>0,ﬂ_1ﬁ:

5 (ogay + loguz> 15 log, “L72 kb,

fRbr  f#k— %(logaxl+logaxz)— log, # =
loga/z x; — log, :cl_-;zz

WY o>0,m>08 DTR>/an,
FRELCD % 0> 1, loge/m1; — loga T2 52 < 0, 1)

% (log,xq + log,x5 )< log, @

(2) M0 <<a<<1i},loga/xixs — log, # =0,8

) +Iz

% (logax| + logaxs ) = log, 7

ZEh,4a>1 E\]‘,%(loga:cl —+ logex5 )< log, a:]——;-xz;

M1>a>0 Bil‘,%(logaxl + logax ) = log, &;;ﬂ
L K o » logurs » log, =% J 8, BB
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| HEMBER v = logux M=ARBUE, RERIFEa>1, 1>

a> 0 BH y = logar NI HERADE.
> 1y = loger & LM AL/ + flz)]<

T+ 1tz
2= nrn,

5 ),Eﬂ%(logaxl ~+ log,x3 )<< log,

WO < q< 1By = logax ETI‘_‘JEﬁ,?ﬁ%[ﬂxl) o+

ﬂiﬂnﬂ>d”+“yw

%(logaxl + logex ) = log, .1'1_-;-12
3. p>1=a>b(a, bERY )KL

Bil12 bR 1416 5 161 KD
T ABLEE A BIES 1 B E BB R
16 16 , 716 16 49\8
W ()
1416 > 1614,

Bl13 BH: a, by, c AENIELE L a2bPc 5

ab+cba+cca+b B{J j(/J\.

aZap2bo2c

S il il - e ——— a2a—b—cb2b—a—c62¢‘—a—b
abtc o patc o cathd

iR

— a8 b e qaC o ppa o PP o @ o b

. aa—b
- pa—b

pb—<

.Cb——c .

e

ae—a'

a—b
Fa=b,Ma—b=>0, at =t [‘;‘E>1;

a—b
%agb,mu,fﬁ ==

54

ba—b 21

i
P

[ >1, > 1, (x) X >1.
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Efl)), alap2b2c =1, EI]

abte o« pate o cath =
a%ap2bcle = ghtepatecath,
14 #Fa>0,a#1, 6>0,b#*1, ==
o[ 1= (£)7" ]|+ v= |toaa[1+ (£)7"]| e, » |
R/

BT PSR 2E LA, 7 46 25 P XA 5, Sy T 6% 1
(L) mxon.

a

A5 SRR HLAE BT AR L4 S HERT S AR A BT AT 4T

b \ab
Mtk—: Ya=b6>0m,1—(2)" = 0.uht 2 BB

Wa>b>0Hf,

o<§<1, a—b>0.
s R R, 15

o< (

RSt

s—i,lb>a>0B‘Ty
b1, ap0;
a .

H R B 15
o< (L) <.

gP= (L) Yoo, tio<P <.
% a> 14,
z—y=|log,(1—P) |—| log,(1+ P) |
=—log, (1—P) —log,(1+ P)
=—log,(1—P2) > 0; .
Y0 <a<<lHf,
z—y=| loga(1—P) |—| loga(1+P) |
M1 FEINER




= log. (1 —P) +log. (1 + P)
= log, (1 —P%) > 0.
WY a b EAH x> .
k= ik —R: 0< P<1 (3R P = (£)7).

a
= |log.(1—P) |

_ _ |logs1—P)
y |log(1+P) |

log. (14 P)

= | loga+rm (1— P |.
W% 0<P< 15
0<<1—P<1,14+P>1.
A logap) (1 —P) <C0.
P it fz—log(HP)(l—P)

= loga+p L
1—P

14+ P
= logi+p) 1_p?

= log(+p) (14 P) — logai4+p) (1 — P2)
= 1—loga+p) (1 — P2).
HF1+P>1,0<1—P2<1,1%
log1+py (1 — P%) < 0.

B1s #H oz, € (0, %), b %8 %(tanxl + tanzy) 5

tan izxz R/

.5 (tanx| + tanzy) — tan 2t
2 2
sin(x; + x5) sin(xy + x3)

= 2coszy + cosx; 1+ cos(axy + x3)
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= sin(xy *1-12)[200311 e costy 14 cos(x —l—xz)}

PR 2y 2y BUMA L FTLA
1+ cos(x) + x39)
= cos(x) — x2) + cos(xy + x3)
= 2cosx; * cosxy > 0.

1 < 1
14 cos(x) +a3)  cos(x; — xy) + cos(xy + x3)

B A

o 1
— b
2cosx) * cosTy

1 1
2cosz) * cosxy 14 cos(xy + x3)

M sin(xy +22) > 0,

Hp

=0.
%(tanxl ~+ tanx, ) = tan 11_‘512

i’{ﬁﬁl%’] COS(II ‘—‘Iz) = 1,El] I = X3 N,%%ﬁii

% (tarpq + tanz;)

ﬁﬁ:’ L nt o

ta 2

Sil’l(xl —|— Ty )
2cosx) * cosxy
sin(x; + x2)

1+ cos(xy + x3)
1+ cos(xy +x2)

2cosx; * COSTy

14 cos(xy + x2)
cos(x; — xp) +cos(xy +a3) =

T + X3
2 >0,

1] %(tan.rl + tanz,) > 0, tan

[Shiie —%—(tanxl —+ tanxy) >tanxlT+Iz.

L= AT y = tan R S AE (0. 5 ) AR T
HEAT LA .
tE1 FEAMLEHE




